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1. 224 52 4 9373} 7,660,000 7,660,000 1.188,0001
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1. 8a-g-gn) = 480,000
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L. g odu) = 162,000
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| 1,32 9 B =] = 546,000 |
1.8 = 546,000
2. 716} WA RS 21,269,000 21,269,000, 10,913,940
Loz QoA 1 7in] 1,799,000 1,799,000 1,798,280
1. 7] 7A a1 Q1 21w = 1,798,280
|
f | 1,917 0] = 1,798,280|
3 '2.2‘2}&%032]%—? 19,470,000 19,47@,0001{ 9,115,660 |
| |
1. = 7,435,660
1.9171v] = 7,435,660
2.94 7 = 1,680,000
14171 = 1,680,000
9. 8t B2 /WA A #)4 841,764,000 841,764,000 437,733,510
1.2 e 366,420,000 366,420,000 173,615,760
1. g 489 366,420.()00; 366,420,000 173,615,760
| | 1.z ARl 21| = 16,515,130
‘
1 1,917 = 14,937,420
2. 8me ol = 1,577,710
2. 28] 917 = 31,841,280
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| 4.7 5 = 750,000
:‘ . 1.8t | = 750,000
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1. 8584 n) = 95,519,370
| 6. 548944 = 14,185,130
1. 8a-gH = 14,185,130
74502 = 3,602,540
1. 8a-gn = 3,602,540
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2. 7154} e | 98,597,000/ 98,597,000 46,619,670
L 715AHE | 98,597,000 98,597,000 46,619,670
| 1.917n) = 18,664,400
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2,889 n| = 10,114,400
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|
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! | 1,8k g-edn)| = 6,884,890
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2. A25% A waA] olgAed = 3,521,040
1. g g-alv) = 3,521,040
5. 8357 17,110,000| 17,110,000, 13,417,890
'"1.5-}*3%21%03 17,110,000 17,110,000 13,417,890
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1.8k a o vl = 240,000
2. A s kA 4] = 12,935,390
1.8h5& o) = 12,935,390
.
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kA g A9 = 1,310,460
' 1917w = 1,310,460
2,70 nigdg | 400,000 400,000 0
3.AH8] watdE 360,000 360,000 55,700
: iy = 55,700
L g g v = 55,700
4,58 wIBE 2,840,000 2,840,000/ 1,064,940
i | L) = 1,064,940
! } l.ﬂﬂ%"éﬁl‘ = 1,064,940
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| | 1w} = 880,100
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! 2.8 &7 = 726,650
6. 345 wmaEE 2,000,000 2,000,000 1,605,680
®Ieol = 1,605,680
1. shan ol u) = 1,605,680
7.4% wHgE 900,000 900,000 319,700
LAk = 319,700
1. 81 = 319,700
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|
‘ 1.8tmgedn) = 181,100!
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1.8 g o = 740,900
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l
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‘
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1.8t = 94,887,410
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15X 8,350,000 8,350.0007 5,434,170
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2.8 %750 = 5,024,430
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' 1.8t H| = 700.590|i
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1
1 e g o] = 204,000]
2.97%n &9 8,500,000 8,500,000 3,463,400
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i 1.8t ag-9in) = 3,306,400
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|
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z.ﬁgisﬂﬁ%% 12,705.000. 12,705,000 6,200,960
1.8 w7 5l = 6,200, 960‘
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1. H1E 50 = 10,234,950
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2.5 EHY 1,200,000 1,200,000 636, 100
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3.8ty £ 64,726,000| 64,726,000 28,908,980
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| 2. 94/ UAH L& | 32,427,000 32,427,000 12,165,250
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1. o] H] ! 2,296,000 2,296,000 0
0 e | 1.333.698,000:11,337,622,000 682,634,710
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